Equations and Inequalities
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Properties of Equality

Match the properties with the example that goes with it.

__EQ___ |. Commutative Property A. fa=bandb=c,

thena=c

_D 2. Associative Property

E 3. Symmetric Property of Equality

/B./2x8x3=2x3x8

/ 22a+ 0= 22a

£ 4. Transitive Property of Equality BT (449) +5=4+ (9 +5)

5. ldentity Property

6)

JE fa=b, thenb=aq

3(x-2)+10=25 Original Equation
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Word Problems

1) Sara wanfts to have an average oflat least 20 jon her tests. If she took three tests
and earned an 84, 95, and 82, what is the lowest grade she has to earn on the

four‘rh test? é?(m —l—}_{ B Bl

XBMf;aw~ﬂD+ ﬁj;@ﬂ

2) Seth wants an average offno lower than an 85Jon his tests. He has taken 3 tests.
On the first Test he made an 80, and on the 20 and 3 test he made. ’rhe same

score. What is the lowest grade Seth has to make on both of those tests to moke

hisaverage? AN 4 KD %S 7; c9><-f—zg) > 9§$ -
Z i = % Ix = 178 cfi c:;lg‘of;’r

N =S fo
3) Lola travelled to New York to visit her grandmother. When she arrived at 3'—&;&(

the airport she had to take a taxi to her grandmother's house. The sign

says the cost for the taxiis $5.00 plus PO a mi@. Create and equation that
models the situation. State what x and y represent in your equation.

Y= —20x i
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—i
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cost 6f ade. pamle g e AnLs

4) Jordan is trying to find the sum of 3 consecuﬂveéd d integers. Their sum |s
249. Find the 3 numbers. Show all work. =

31 \%
>< = M+ + Y L{ & i L{.ﬂ 3’5 /
- ‘ _ <
Bt =49 |X=g | b=
3y = 943 "

S5) (The width of a rectangle is 4 inches more than the length)The perimeter is

26 inches. Find the length and width of the rectangle. You must show your
algebraic equation and work to get credit!

W= 4+ P >L +2aW

510=2L.+%‘\'9L~
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Characteristics of Linear Functions Practice Worksheet A

Name Date
1. ADomain: (—00, @) Range: (— 0o, o)
% x-intercept: (0,0 Y y -intercept: (0,3)
X Increasing: _X Decreasing: v/ (—00,c0)

P - |
\OgsrhP=S S~ o~y Slope: (>

End Behavior: As x >+, f(x) > -0

ASX D> -, f(x) >

Wn= —'lzX‘*‘B
J

Equation:
flx)=-Yax+ 4 :
2. A Domain; {(—©D, ©0) ﬂ Range: (— @, @®) ‘\TR 1_
Y._x—intercept: y —intercept: _€ ©, %) *\
X Increasing: _ % Decreasing: v ([~ @, o) T 2 \5<
KD~ ——~_, Slope:__ . 13’ ) N
End Behavior: As x 2 + =, f(x) > = CD - : = i
Asx > =, f(x) > _¢ i
=}
v
3. % Domain: (— 0, ) 3 Range: ( =0, @) ’
Y. x—intercept: o 2 3y —intercept: _(0,-2 ) ;
A Increasing: v~ (—m,05) Decreasing: X% :
EORSIaRT e Sy Slope:___ S T ;. :
End Behavior: Asx >+, f(x) > 0 -
ASX > —, f(x) > 5

Equation: M = 2X ~ 9~
J
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Functions and Rate of change

Write andfequation for the function in the table.

\_j:.? Mmx 4 b

*hint* Determine the slope using the slope formula. Find the y intercept from the

table.
2 3 4 5
1810 [ 12 14
B e A B
T +2 |<¢2
3-:; m X+ b

\é M Tt b o

Use the following functions to find the given value or expression:

fix)=x+2 g[x):—;—x+1

M=o
f(o)=0+>

@ a®)=_5
5(8)=Ja-(k\ +\
= 44|

@) h@) = =3
h(2) = 3(2)°-3
Z o) -3

4) 9(2) +h(2) =

hix) = 2x* — m(x) =3 -x

5) 2g(x) + 3f(x) =

(é); (f+o)x) = LSYX + 3

(XD +
X+a+)-x+ I
7) (f-m)(X)-




More on Functions

Find the following values: &
Replaws X ;) 8o when gr ? ‘0
9(3%=___5 : L 2
o= 1 .
glio)=___| &
g1 )=5 i g ®
o =4 1il e o
2
1 ®
*'14 1 2 3 4 &4 6 7 8 9 10
v

State if the following is a relation or a function, then state why.

2) NE = Roiect 0

] 5,2) (6,3) (7.4) (8,3
){(THT )%\)%\)}F oo T2 O@

oufput | 41-1121]-3

3) pleamies

¥ ) : ; - 1
NE > R ity O




Arithmetic Sequences

Epns-104+7(n=-1D »
7 = - )0+In -7 o :qn_|+7
- = TN _l—] )
= e
09 £ JLITy 1) [DC}
21. Camden is collecting bugs an =35 +fpln-) |2, 3 - a,
for science class. The first day e
his sister helps him, and he finds T 35 ¥lon-lp & _za
35 bugs. After day 2, he has 51 ’ ) =
bugs. On day 3, he has 67 a, = lon +19 (’10[
bugs. 35, 51, L1 A5y =lL(S) 1Y
22. A museum usually has QA = S a
4,000,000 visitors. They made Ap 7 5-54L.SO-D| &, = S :
some changes to increase | . I,S'
visitors. The table shows fhe d=om £ &S +1-65n-1 an*“n-:+
projected annual visifors to
museum (in millions) affer the :f‘ B = l.sn + 4- I ko
changes. What is the projected )

number of visitors in 8 years?

tr

7-5.5 |ag = LS T
.S

I

! 5.5
2 7
3 8.5
4 10




